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[1aHO HaTypanbHoOe 4Yncno n. HaneyatamTe BCe N-3HauyHble HEYETHbIE
HaTypasibHblE YMC/a B nopsake ybbiBaHUA.

BxoaHble AaHHble
BBoAUTCA HaTypanbHOE 4YnCno.

BbixoAHble AQHHbIE
BoiBeanTe OTBET Ha 3ajaudy.

[Ipnmepsbl | |
BXOAHbl€ AAHHbIE #include <iostream>

1
using namespace std;

BbIXOAHbIE AAHHbIE

97531 i{nt main()
iInt n,y=1;
1075=10*10*10*10*10 cout<<input n*<<endl
int Y, cin>>n;
y=1; for (int i=0; i<n; i++)
zor(int i=0;i<5;i++) i =10,
/ly*10; - HeNPaBUNBbHO fcoutsy<<endl;
- b zor (int i=y-1; i>y/10; i=i-2)
y=y ’ . __n o
) =0 y=1*10 } couts<ie<™
=1 y=10*10=100
i=2  y=100*10=1000 }

=3  y=1000*10=10000
=4  y=10000*10=100000



